Penyelesaian

TINGKATAN 1
1

Praktis Sumatif
Bahagian A
1 M={691215,18)
nM) =5

Jawapan: C

2 n(B') =19-11
=8
Jawapan: B

3 E={52,56,60,64,68,72,76}
F={54,63,72}
G={60,72}
n(E)=17
n(F)=3
n(G)=2
nE)+n(F)+n(G)=7+3+2

=12

Jawapan: D

4 E={52,56,60,04,68,72,76}
F=1{54,63,72}
G=1{60,72}
Jawapan: D

5 £={16,17,18,19,20,21,22,23,24,25,26,27,28,29,30}
K=1{20,30}
J=1{20, 25,30}
Maka, {16 < x <30}
Jawapan: A

6 K={20,30}
J=1{20,25,30}
Maka, K cJ
Jawapan: A

Bahagian B
1 R={1,2,3,4,6,8,12,18,24,36,48,72, 144}
(@ 7-£_R
(b) 12_€_R
(c) 15_£_R
(d) 48_€_R
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3 (a) P=_0

(b) R.=_Q

(©) n(Q) = n(R)

@ P+Q)=¢

Bahagian C
1 (a) (i) X={L,A,T,ILH N}
n(X)=6
(i) Y={a,e,i,o,u}
nY)=5
(b) (1) G={16,25}
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(c) ) &=1{9,10,11,12,13,14,15,16,17,18,19,20}

M ={12,18}

N ={9,12,18}
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